HSH-D 2%

EREEER

ERFR HSH-D RYINEREEIZ=RBFITAT
PREFRGENEZSHRENEENE, 2
REMEREShl, RESWBEEFRIRY,

FARASH
NTC 10K 10 KQ 7 25 °C Y
FREERE

NTC 20K 20 KQ 7£ 25 °C B
PT 1000 1KQTEOCHY
NTC 10K 0.3 KTE 25 °C By
NTC 20K 0.3 KTE 25°C By
PT 1000 0.2 KTE£ 0 °C B

SEENSEE
R 0.3 K 7E 25 °C B, #iINEEE 24 VDC

OVE 10V
CRETTM79 PT 1000)
b A 20 A 0.3 KTE25°CBY, HIAEBFE 24VDC
CRETTaRfF9 PT 1000)
BENETE -40°C & 60°C
TERE -40°CE 70°C, 0% E 95% RH (JE4%)
SR BT 2% 20 % ZE 80 %: £2%; 0 % & 95 %: +3%
f£25°C, 3% 20 % ZE 80 %: £3%; 0 % = 95 %: £5%
MINBE24VDCH 5o 20 % % 80 %: £5%:; 0 % % 95 %: £9%
- OVE 10V 24 VDC 5 24 VAC +20%
4mAZE20mA  24VDC +20%
FhirER IP 65
BEIS 0.33mm” & 1.65 mm’
ETEIRE -30°CE 70°C

SN BRIRERFEZER! PC (PR - UL94 -VO)



ITRES

HSH-DM2A 4 mA ZE 20 mA 2% 10K NTC 0.3 K¥£ 25 °C B
HSH-DM2B 4 mA ZE 20 mA 2% 20K NTC 0.3 K7£ 25 °C B
HSH-DM2P 4 mA ZE 20 mA 2% PT 1000 0.2 KTE0°C B
HSH-DM2M 4 mAZE 20 mA 2% 4 mAZE 20 mA 0.3 K¥E 25 °C B
HSH-DM3A 4 mA ZE 20 mA 3% 10K NTC 0.3 K¥£ 25 °C B
HSH-DM3B 4 mAZE 20 mA 3% 20K NTC 0.3 K7E25°CHY
HSH-DM3P 4 mA ZE 20 mA 3% PT 1000 0.2 KTE 0 °C AY
HSH-DM3M 4 mA ZE 20 mA 3% 4 mA ZE 20 mA 0.3 K¥E 25 °C Y
HSH-DM5A 4 mA ZE 20 mA 5% 10K NTC 0.3 K¥E 25 °C i
HSH-DM5B 4 mAZE 20 mA 5% 20K NTC 0.3 K7 25 °C BY
HSH-DM5P 4 mA ZE 20 mA 5% PT 1000 0.2 KTE 0 °C fY
HSH-DM5M 4 mA ZE 20 mA 5% 4 mA ZE 20 mA 0.3 K7E 25 °C i
HSH-DV2A OVE 10V 2% 10K NTC 0.3 K7E 25 °C i
HSH-DV2B OVE 10V 2% 20K NTC 0.3 KT 25 °C iy
HSH-DV2P OVEI0V 2% PT 1000 0.2 K7E 0 °C B
HSH-DV2 V OVE 10V 2% OVE 10V 0.3 K7 25 °C if
HSH-DV3A OVE 10V 3% 10K NTC 0.3 K7 25 °C i
HSH-DV3B OVE 10V 3% 20K NTC 0.3 KT 25 °C iy
HSH-DV3P OVE 10V 3% PT 1000 0.2 K#E0°C B
HSH-DV3V OVE10V 3% OVE 10V 0.3 K7E 25 °C if
HSH-DV5A OVE10V 5% 10K NTC 0.3 K7 25 °C i
HSH-DV5B OVE 10V 5% 20K NTC 0.3 K7 25 °C iy
HSH-DV5P OVE 10V 5% PT 1000 0.2 K7 0°C B
HSH-DV5 V OVE 10V 5% OVE10V 0.3 K7 25 °C i

* T EERHEREGRES, BERENEETHRRE, NTEANEEESHHERERE, BERENRABEN 24 VDC NOEEEHEE.
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